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1. (13%)MFE4 3
(a).Euler’s Graph(3%)
(b).The Lower Bound of a Problem(3%)
(c). 0/1 Knapsack Problem (3%)
(d). Overflow and Loading Factor of Hash(4%)

2. (10%)34 2 %144k (a). Row Major (b). Column Major 4t E = /4 46 F(Upper-Triangular Matrix)dw Figure 1777~ » 7| a2
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3. (13%) (a).3% . 9AStable sort FvUnstable sort.(b). 5k ] 34 53k /- (Shell Sort) B A — 48 sort? (c).3%#] A #} F-Jk - (Shell
Sort) 4§ % 10,16, 11, 4, 15, 3, 9, 6, 1, 17, 8, 12, 7 4 M 3E(Gap) (6, 3,1) HEA-.

4. (14%) (a). Describe the property B+ tree (b).Insert 45, 15, 120, 150, 48, 55 into B+ Tree of order 3 in Figure 2.
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Figure 2
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6. (10%)34 388 LA F thdavafe X 4 % A B Heh?
public static int powers(int x, int n) {
int pow = 0;
if ((x<=0) || (n < 0)) return 0;
else if (n == 0) return 1;
pow =1;
for (int i=0; i<n; i++) { pow *=x; }
return pow;
}

7. (10%)3% 3§ LAAthpowers & # A 18 (recursion)#) & {2 8 -
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